Presentation cards 2

The chosen exercise for our
presentation is ...

The members of the group are

According to order of operations,
always reading from the left, the
first step is to solve (read the
operation and highlight it)
because ...

Then, we note down the result of
the selected operation which
IS ...

The next step, always reading
from the left, is to select the next
operation to be done which is
(read the operation and highlight
it) because ...

Then, again, we note down the
result of the selected operation
which is ...

Finally, only one operation
remains, which is (read the
operation and highlight it)

We note down the result of the
exercise and check it with the
scientific calculator (do it and
read aloud the keys you press in
your calculator to inform the
class what you are doing)
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